é? quatro decimais, ordem das operagdes com
J [ colchetes

Nome: Encontro: Data: Pontuagao:
(18+6—-4)x3,2= 6,5—-5,2(5,9-3,1)=
(2,9—-3,8)x5,6—2,2= 5,2+2,8(6,9—3,5) =
(12+=2+4,7)x2,7= (5,8+4,2)x53+2, 1=
6,4+4,3(6,5+3,5) = (6,3+3,2)x6,5+5,5=
24(5,2-2,1)+ 6= 83,1-6,2)+4=
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) é f; quatro decimais, ordem das operagdes com
v 5
%' @ colchetes

Nome: Encontro: Data: Pontuagao:
(18+6—-4)x3,2=-32 6,5—5,2(5,9—-3,1)=—-8.06
(2,9-3,8)x5,6-2,2=-724 5,2+2,8(6,9—3,5)=14.72
(12+2+4,7)x2,7=28.89 (5,8+4,2)x53+2,1=55.1
6,4+4,3(6,5+3,5) =494 (6,3+3,2)x6,5+5,5=67.25
24(5,2-2,1)~6=124 8(3,1-6,2)+4=-6.2
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